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Please check that this question paper contains 8 printed pages + 2 Maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions : Chase Excellence

(i)  The question paper has 30 questions in all. All questions are compulsory.
(i) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 21 to 28 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(Vi)  Question number 29 and 30 are map questions of 3 marks each Jfrom History and
Geography both. Afier completion, attach the maps inside your answer-book.

1. I~irel wet % SR g0 o IR g T vt st SRS i & o 2 1
FHYdl
% Tewdt 3w T WG 311w foaeam Jes & ehass &1 i fefiaw |
What was the strong demand of the emerging middle classes in Europe during
nineteenth century ?
OR

Name the writer who wrote the book ‘The History of the Loss of Vietnam.’

2. @ 0 v wiHel & e st ueifad e 9 1
How does mining affect the health of miners ?

3. aS UUS ARG SR Qe helerT S e Sed e | 1
State the main aim of Backward and Minority Communities Employees Federation.

4. Torm R 9 ol axgatl & Fdiaan tee eart vET & sueeg § 9 1
Due to which reason the latest models of different items are available within our reach ?

32/2/3 2

Download http://jsuniltutorial.weebly.com/ Page No. 2



N

5. AR 39 Seisi & WELART Tl % $egen Rl §, W] SHFRR a6 Same St @ TR
¢ | 59 A | fashar g1 forw St e s IewiE e T 0 1

If you are not interested to buy a brush with tooth-paste but shopkeeper denied to sell

tooth-paste only. In this case which consumer right is being violated by the seller ?

{-Er_- P 4 n Y oma a0
RoLaoh :

6. ot fordiw & fewr wee ot st WAy 3 ot Wil W s R | 1

Differentiate between ‘Sectional interest groups’ and ‘Public interest groups’.

7. UHKAd TSI STl ht CAlehei bk oqaT § STeST 9T T8t WHT ST ¥ 9 1

Why is one party political system not considered a good democratic system ?

8. T Tohd Wb STTareshataii & QYed TANT hl SATervashal o HIe il & 2 1

How does money eliminate the need for double coincidence of wants ?

9. aﬂhﬁﬁﬁmaﬁw%wwmm | TH TR A TF IR = &2 1+2=3

Classify industries on the basis of their main role. How are they different from each other ?

10. e o1 Bl wed § 9 WA ST aRt @t Remert & e < frget @ seoe
HIT | ‘ 1+2=3
What is a political party ? State any two points of the ideology of Bhartiya Janta Party.

11. sifefemr & s/ & Fsiw % foeg dod @ Ager feea T 2 5@ W R0 iy & foe
7YY T TRIHT i O HIT | 1+2=3

Who led the protest against water privatization in Bolivia ? Describe the ways of

protest adopted by that organization.

12. T WeHdT e i SFHRUT TRiE] % o fFg v el ¥ 0 o R s i T 3

How is the concept of Self Help Groups important for poor people ? Give your view

point.
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13. «ﬁmmwﬁm%mﬁ i aavasd € 7 Wﬁﬂﬁﬂféﬁw%?ﬁ
ZrEETd el | 3x1=3
«“There is a pressing need to use renewable energy resources.” Justify the statement

with suitable arguments.

14, ‘Wﬁm@ﬁﬁﬁﬁﬁ%wmﬁwﬁmﬁmm

ﬁw@n“mﬁﬁﬁwﬁgﬁﬁmm 3x1=3

dn .
“m@ﬁﬁﬁmqmﬁw%wﬁmwﬁmﬁﬁmaﬁm P SeTeLol
e o RS HITT |

«Culture had played an important role in the development of nationalism in Europe

during eighteenth and nineteenth centuries.” Support the statement with examples. .

OR
«“French tried to solve educational problems in Vietnam in different ways.” Support the

statement with examples.

15. mepﬁmmaﬁwﬁﬁﬁé?wﬁm 3

Why did the different social groups join the Civil Disobedience Movement ? Explain.

16. mmmﬁquﬁaaﬁ mm‘mmmﬁ’%qﬁﬂﬁmw | AR
2 = e 3 T F T ST | 3

Simon Commission was grected with slogan ‘Go back Simon’ at arrival in India.

Support this reaction of Indians with arguments.

17, cqed aftferfe aﬁiaﬁ%ﬁ%maﬁéﬁﬁﬂaﬁﬁmmqﬁ% P T SR T T
fea =Eiad ey | 3Ix1=3

“No party system is ideal for all countries and all situations.” Justify the statement

with arguments.

18. aﬁmﬁﬁmmamﬂwﬁmﬁHWﬁ%?mﬁmﬁwﬁm I 3% 1.=3

How do large companics manipulate the market ? Explain with examples.
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20.

21.

22.

23.

24,

25,

~7 2\

(D)

el TRER St o o & T ST S T BT E 3 B s e
ST | 3x1=3

“Poor households still depend on informal sources of credit.” Support the statement
with examples.

‘R TR T T HewaqU] wAleT- S Ieq8h 99 & R g9 HuA QUi §erey o faere el
FX AT E 1 ot Sred fashra O 3 fee iE o SUE YRRt SR ST SR i | 3

“India is an important iron and steel producing country in the world. Yet we are not
able to perform to our full potential.” Suggest and explain any three measures to get
full potential.

FEUETT FEET B R @ i T ST IR SRt RN WA+ A e el
fehrel T e B1 FUi ST | 5%x1=5
Describe any five factors that promote the Multinational Corporations (MNCs) to set-

up their production units in a particular place.

R § v fover g < v UR U T 3T SR Triiaes feaf 9er i 7 3wl died
T HINT | 5x1=5
How did the ‘First World War’ create a new economic and political situations in

India ? Explain with examples.

ey T @t aREd HINTT | e S AR & €9 H &b S S 8 W HET 11+ 4=5

Define the term ‘tourism’. Why is tourism known as a trade ? Explain.

FveleRRoT ERT TS T § B1E IeqeH AR e & Tt UeT i T W W] s
Y | 5x1=5

Describe the major problems created by the globalization for a large number of small

producers and workers.

“AFAT F HHEST H U T BT AT T HET A ! Therar Hi T & 1 T
2 o AEiTeT 28R | 5

“A public expression of dissatisfaction with democracy shows the success of

democratic project.” Justify the statement.
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26. @i BHR Sl & e 90T € 17 316X Wied U @t e i |

“Minerals are indispensible part of our lives.” Support the statement with examples.

27. TR YT T A AR H 9 T 7 s 96 ek = veat & 17
T H TGTAT0T BITT |  5x1=5

“Democracies are not appearing to be very successful in reducing economic

inequalities.” Analyse the statement.

28. “YUT H ST Fal F AT <A TF LA S ACYUSE! ISRATT Al @He S
el TET SIT TR W 9T H o7 1 3F T S ISR Hied [oveisuT ST | 5x1=5

[Ygdr
“1960 % &9 H feramm T SiRal F FigT F GR-ET FR F =9 4 Gu e T P e
Y T ISTE Wied [eAT HIT |
“Nationalism no longer retained its idealistic liberal democratic sentiment by the last

quarter of the nineteenth century in Europe.” Analyse the statement with examples.

OR
“Women were represented as warriors as well as workers in Vietnam in the 1960s.”

Analyse the statement with examples.

29. < I — (A), (B) 3 (C) 9Re % Ui I@-AERaS § sifed T e § | 3 ot bt
frfefan sTFeRT St Terd @ Yeai- SR 3% T A wEtas o 2ifea @ 18 Yt w
liglici 3x1=3
(A) TE M ST& IR TG HiUT I ST g7 7 |
"(B) % ®IF STl ‘R T o7 Fl AT IR §IA T |
(C) % T @t oM 3 Teame = ST fear o |
Three features.(A), (B) and (C) are marked on the given political outline map of India.

Identify these fecatures with the help of the following information and write their

correct names on the lines marked in the map :

(A) The place where the Indian National Congress Session was held.
(B) The place where the ‘No Tax Campaign’ was started.

(C) The place where peasants organized a Satyagraha.
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(29.1) wwwaﬁfﬂﬁa@ T Faerar 1920 # srelta g ik 5 S g2 o7 |

(29.2) mwmm‘%ﬁmaﬁwqéﬁwaﬁm%wm| /-\/’;"*“\\
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(29.3)  Tord H foramt 3 oy v W e v o7 0

Note : The following questions are for the Visually Impaired candidates only, in

lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress Session was held in

September, 1920.
(29.2) Name the place where ‘No Tax Campaign’ was started.

(29.3) At which place did the peasants organize Satyagraha in Gujarat ?

w%ﬁqwnﬁm%@-nﬂﬁaﬁﬁ%f@ﬁﬁmﬁﬁﬁwaﬂrmﬂ?w

feifia 3x1=3
(A) ST St a9 —  FouEEy

(B) WEIETEEEE - scden

(©) g - g

On the given political outline map of India locate and label the following with

appropriate symbols :
(A) Nuclear Power Plant — Kalpakkam
(B) Iron and Steel Plant — Rourkela
(C) Major Sea Port - Kandla
7 | [P.T.O.
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(30.1) HeTueRH UTAI] St YT fong T F fem & 9 7 “\.
(30.2) I T T A1 il STet TSTHT AT o T G PR E | oo e
(30.3) higenn U fFT Ae W ferg & 2

Note : The following questions are for the Visually Impaired Candidates only, in

lieu of Q. No. 30 :
(30.1) In which state is Kalpakkam Nuclear Power Plant located ?
- (30.2) Name the state where Rourkela Iron and Steel Plant is located.

(30.3)  On which coast is “Kandla’ port located ?
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